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MASTER OF COMMERCE 

Term-End Examination 10170 
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MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time 3 hours 	 Maximum Marks : 100 
Weightage 70% 

Note : (i) Attempt any five questions. 
(ii) All questions carry equal marks. 

1. (a) What are the financial statements ? How 4, 6 
far they are useful for decision making 
purposes ? 

(b) Write short notes on any two of the 5, 5 

following : 

Interim Dividend 

Deferred Revenue expenditure 

Appropriation of profits 

Accounting a source of financial 
information 

2. (a) What is meant by zero based budgeting ? 5, 5 
How is it different from traditional 
budgeting ? 

(b) Discuss the essentials of establishing a 10 
budgeting system. 
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3. 	Write short notes on any four of the following : 
(a) Strategic cost management 	 5, 5, 5, 5 
(b) Activity based costing 
(c) Profit Volume Ratio 
(d) Modes of Reporting to Management 
(e) Absorption Costing 
(f) Performance Budgeting 

	

4. 	(a) The operating profit after charging interest 	6 
on debentures and Tax is Z 2,00,000. The 
amount of interest is Z 40,000 and provision 
for tax has been made Z 80,000. Calculate 
Interest Coverage Ratio. 

(b) Calculate Working Capital Turnover Ratio 	4 
from the following information : 
Current Assets Z 18,00,000 
Total Sales Z 61,00,000 
Current Liabilities Z 	6,00,000 
Sales Return Z 	1,00,000 

(c) Write short notes on any two of the 5, 5 
following : 
(i) Operating Profit Ratio 
(ii) Return On Investment (ROI) Ratio 
(iii) Stock Turnover Ratio 

5. 	A manufacturing company is considering 20 
whether to buy a commodity with an annual sales 
potential of Z 2,50,000 and thereafter discontinue 
the manufacture of that commodity. 
Manufacturing costs are Z 1,75,000 while 
purchasing costs would be Z 1,87,500. Selling 
costs are Z 25,000. Administrative costs are 
? 10,000 and would be Z 2,500 less, if the 
commodity is bought. Capital requirement are 
Z 4,00,000 for making and Z 2,40,000 for buying. 
The manufacturing plant has a life of four years 
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of which three years have lapsed. A decision on 
making or buying has to be made before its 
renewal. You are required to advise the 
management on the basis of above data whether 
to buy or to make the commodity. 

Explain the managerial uses of marginal 10 
costing. 
Discuss the essential conditions for the 10 
success of responsibility accounting. 

7. What is meant by Transfer Pricing ? Discuss 
various Transfer Pricing Methods. 	 5, 15 

8. (a) How does cash flow analysis help the 10 
management in decision making ? 

(b) What are the limitations of Ratio Analysis ? 10 
Explain. 

9. The cost information provided by the cost 
accountant is as follows : 	 5, 5, 5, 5 
Sales 	 1,00,000 units 
Selling price 	Z 10 per unit 
Variable cost 	Z 6 per unit 
Fixed cost 	Z 60,000 per annum 
Compute the following : 
(a) Break even points in units and value 
(b) Make a profit of Z 40,000 
(c) Make a profit of Z 2 per unit 
(d) Make a profit of 30% on sales 
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